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Question No. 1

.1 _ 1
If x*+— =47, then find x+— .
x* X

A) B)
9 5
C) D)
3 7
1 - 1
Il x*+ =47 ?—ITX—;EFI'NHFIHWI
X
A) B)
9 5
C) D)
3 7
Answer Key : C Your Response : C (Correct)

Question No. 2

Equivalent resistance of resistances connected in series is the of individual resistances.

A)Difference B)Sum

C)Sum of squares D)Product

Aol et & 3 afodet 1 FAGe oY rerT-3reT wiokiat Fr e 8
A)IerX B) JleTthel

C)aqit & AreTshel D)F[UTeTthel

Answer Key : B Your Response : B (Correct)

Question No. 3

Which element has two shells, both of yitligharesompletalydilissl. with electrons?
A)Magnesium B)Argon

Top



C)Neon D)Carbon

Allgovernmentjobs.in
e aca & qff TRE & Faiar & s gU A Fer g €2

A)HTA s B) 31TeTeT
C)faarst D)hresT
Answer Key : C Your Response : A (Wrong)

Question No. 4
The sum of LCM and HCF of two numbers is 372, If LCM is equal to 92 times of HCF and one the numbers is
368, what is the other number?
A)360 B)4
C)92 D)96

ar ¥Rl & S.H.9(LCM) AR AH.I(HCF) Fr AT 372 §, I F.H.9(LCM), AHIHCF) F 92 I F RWR
¢ 3R v HEar 368 ¥, o qEd WeAwr A Al

A)360 B)4
C)92 D)96
Answer Key : B Your Response : Not Answered

Question No. 5

Two squares differ in areas by 32 cm?. If the difference in their sides is 4 cm, what are the sides of the two

squares?
A)6 cm, 2 cm B)12 cm, 8 cm
C)4dcm,2cm D)4 cm, 4 cm

ar geit & frawalt F Ao 32 W2 ¥ Al oy Spem3T Fr AW 4 JN B, o At Tt A gEEH I AR T
o

A)6 T, 2 aAr B)12 &=, 8 @AY
C)4 ¥+, 2 {+A D)4 ¥+, 4
Answer Key : A Your Response : A (Correct)

Question No. 6

Anemia is caused in man due to the deficiency of -

A)Vitamin A B)Folic acid

C)lron D)Vitamin B

AT # #r FA F FROT WHIAT gar ¥

A faafaa A B)wifore 31Fer

C) 3T D)fderfae B

Answer Key : C Your Response : D (Wrong)

Question No. 7

When was the universal immunisation programme started in India ?

A)1980 B)1974
C)1985 D)1991
B % FrawiiETn ST w90 B8 A Bhtobs.in Top

A)1980 B)1974



C)1985 D)1991
Answer Key : C AI Igove rnme ntj dBJéF.!ﬁsPonse : Not Answered

Question No. 8

Which number will best complete the relationship given below?

21:36::13:7
A)22 B)23
C)24 D)20

e W dewr A Re e W6y A wafeaw ST F F w6l

21:36:13:7

A)22 B)23

C)24 D)20

Answer Key : D Your Response : Not Answered

Question No. 9
If consumption of sugar increases from 12 kg to 15 kg, then what is the percentage increase?
A)39.2% B)25%
C)20% D)33.3%

Iy el A @9 12 Rreliamer F agav 15 FreilmT g seh &, ar wfawa iy wra Afse

A)39.2% B)25%
C)20% D)33.3%
Answer Key : B Your Response : B (Correct)

Question No. 10

Who among the following took charge as the MD and CEO of ICICI Securities with effect from May 7, 2019?

A)Girish Chandra B)Vijay Chandok
Chaturvedi
C)Radhakrishnan Nair D)Uday Chitale

fa@a # ¥ s 7 #8, 2019 ¥ ICICI RFAIREST F MD 3k CEO &7 TGHR HHIA?

A)frdrer g Tl B)fasrar @
C)TTHSOTT AR D)3eT fader
Answer Key : B Your Response : B (Correct)

Question No. 11
Which of the following devices fitted in vehicles controls the air pollution?
A)Radiator B)Carburettor
C)inverter D)Catalytic converter

argett 7 O fAeT F F BT W 3YIROT I HGWOT A AT Fwaw 82
A)XETeT

B) e |
Cyeeat AIIgovernm%pdrgé){gstﬁgd_CW Top



Answer Key : D Your Response : B (Wrong)

Allgovearmenntiabs.in
Two pipes P and Q can fill a tank in 32 minutes and 48 minutes. Both pipes are opened and after some time
pipe Q is turned off. The tank is filled in 24 minutes. When was the pipe Q closed?
A)12 minutes B)15 minutes
C)10 minutes D)16 minutes

ar Y P 3R Q oF &F A 32 e AN 48 fee % s T §1 Al Ty W RE s § 3R 55 w9
G BT Q F dg F AT Iar ¥l EF 24 AT F o AT ¥ IBT Q Fr FO 95 HAT ™A AR

A)12 fAee B)15 fAsie
C)10 fAec D)16 f@ee
Answer Key : A Your Response : Not Answered

Question No. 13

If x= {%jl; V= }3'5_11 . then find x* + y2.
A) B)
0 14
C) D)
3 13

afe K:ﬁ—1_ —“E'll,a’r x> +y> & AT AT FfT

NCERR N
A) B)
0 14
C) D)
3 13
Answer Key : B Your Response : Not Answered

Question No. 14
Which of the following is the biggest stadium in India?

A)Kalinga Stadium A”govemmémjxébgfﬁ-ﬁtadium Top
C)Chinnaswamy Stadium D)Sardar Patel Stadium



o X T A AR T T X|Ia‘€)vernm%p§j§g{b§é§n o

A)&wfeer wefsaa

C)Riearear#r wf3aa D)TER 9ol Tf3ad

Answer Key : B Your Response : B (Correct)
Question No. 15

Complete the series.

ab, ba, abc, cba, abcd, (...)

A)acbd B)dcba
C)bacd D)cabd
Avhr 2 qof A

ab, ba, abc, cba, abcd, (..)

A)acbd B)dcba
C)bacd D)cabd
Answer Key : B Your Response : B (Correct)

Question No. 16

Find the ODD one out from the given options.

C) D)

T av Bwest & & 3w F gA

C) D)

Allgovernmentjobs.ir
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Answer Key : D Your Response : D (Correct)

Allgoveatmenntiobs.in
Find the missing group of alphabets in the following series.

ABC, EFG, 1K, (...), UVW
A)OPQ B)XYZ
C)QPO D)RST

farafaf@a 4oft & sepuitufa sprR-wqg o Ao

ABC, EFG, UK, (), UVYW

A)OPQ B)XYZ
C)QPO D)RST
Answer Key : A Your Response : Not Answered

Question No. 18
Which of the following Is the longest river in the Peninsular region of India?
A)Cauvery B)Godavari
C)Mahanadi D)Narmada

ffaf@a & ¥ Fia @ aRa §F i &7 ¥ AFes arelr waw o a8 &7

A)FTIY B)aMeradr
C)HgTACY D)1#er
Answer Key : B Your Response : A (Wrong)

Question No. 19
A cistem can be filled in 9 hours. But due to a leak, it takes one hour more. If the cistem is full, in what time
will it become empty due to the leak?
A)75 hours B)60 hours
C)30 hours D)90 hours

U ShI T 9 BT F IRT ST HHaT §1 AfReT U RUM F FROI, 3 T "er A0F AT o1 &1 g &hr
R @0 &, o Rema $r o F I o @A 7§ @l @ srem?

A)75 B B)60 ©e
C)30 ©¢ D)90 ©¢
Answer Key : D Your Response : Not Answered

Question No. 20
Which of the following elements is NOT part of proteins?
A)Sulphur B)lodine
C)Carbon D)Nitrogen

fef@a & ¥ Fia ur aca AT 1 BEar a8 87
A)HewT

B) 3TN |
Oy AIIgovernm%%;%%sﬂ.m Top



Answer Key : B Your Response : C (Wrong)

Allgovesramemtinbs.in
Read the following information carefully and answer the question given below.

Seven managers— J, K, L, M, N, O and P are sitting along a circle facing the centre. J is between P and M. L
is second to the right of M and is between K and O. K is not the neighbour of N.

Which of the following is CORRECT?

A)M is second to the left of P B)J is to the immediate left of M
C)L is third to the left of J D)P is between J and M

T TRt # G & 9§ AR e Ru 1w weet &1 3w &)

A FEUF J, KL, M, N OIRPHF AINPFFRF G T FaRIINB & J, PIRM F AT F ¥
L, St M ¥ or$ 3R q@¥ ¥ W &, K 3R O & & 3 §1 K, N &7 wgilr 8t &1

o # ¥ Fla ar 7@ &2

AM, P & ST & g@¥ &I W 7l B)J, M & §T§ 3R UHcH 9Tl H 3T gl
C)L, J & S0 & IR TUH W gl D)P, J 3iR M & & & |

Answer Key : B Your Response : B (Correct)

Question No. 22

From the given options, find the ODD one out.

A)PV B)TW
C)LO D)EH

R T Rt # A T AT

A)PV B)TW

C)LO D)EH

Answer Key : A Your Response : A (Correct)

Question No. 23

Acid secretion is a characteristic of -

A)Buccal cavity B)Large intestine

C)Stomach D)Small intestine

3 9T #r R 1

A)HE T[T (Buccal cavity) B)&Er 3fid

C)ATATRT D)BIer 31d

Answer Key : C Your Response : D (Wrong)

Question No. 24
Allgovernmentjobs.in Top



Mark the right statement:
Allgovernmentjobs.in
(i) Coprime numbers must be both prime always.

(i) Of two coprime numbers one is prime and the other is composite always.
(iii) Coprime numbers are twin primes.

(iv) Two consecutive integers are always coprime.

A)Statement (iii) only B)Statement (iv) only
C)Statement (i) only D)Statement (ii) only

A FIT F AT FL

() 3rganTey deusElt & ¥ -t g nnsT g wRvl
(i) & rwgareIeT weAnit ¥ & vF ey wear A ¥ 3R qEdr vdy Wy wewr Al ¥

(iii) TS FEANT JooT IHST HEAT g §l

(iv) &Y FARTA Uit TR IREIFST B

A)had HUeT (iii) B)&dd &Y (iv)

C)¥Fad HU (i) D)&ad U (ii)

Answer Key : B Your Response : A (Wrong)

Question No. 25
Find the least number which when doubled will be exactly divisible by 12, 16, 18, 21 and 28.
A)1008 B)336
C)19940 D)504

TF O & B A& AT AR, B EAr WA W 9T F@w 12, 16, 18, 21 R 28 ¥ qoierr RSy

Lol

A)1008 B)336

C)19940 D)504

Answer Key : D Your Response : A (Wrong)
Question No. 26

NASA spacecraft LADEE confirmed the presence of gas in Moon's atmosphere.

A)Krypton B)Xenon

C)Neon D)Radon

NASA ¥ 3faReT 4T LADEE o <ig#r & argeisar 7 i fr sufeafa f gite #n

A)foreea oo

C) e D)ETeT

Answer Key : C Your Response : C (Correct)

Allgovernmentjobs.in
Question No. 27

Top



A frain takes 2 hours less for a Journey of 300 km by increasing its speed by 5 km/h. What is its normal

speed? Allgovernmentjobs.in
A)30 km/h B)25 kmih
C)20 km/h D)35 km/h

e Yoy #r G 7 5 Relvder i IR I W S 300 BN fr g a7 W 7 2 6 F9r WA o9 B
SHHT WA O AT ffow|

A)30 fra/aer B)25 fars/eer
C)20 frefi/eer D)35 fafi/eer
Answer Key : B Your Response : B (Correct)

Question No. 28
Ravi starts walking towards north. After walking 15 m, he turns towards south . After walking 20 m, he tums
towards east and walks 10 m. He then tums towards north and walks 5 m. How far and in which direction is

he from his starting point?
A)10 m, west B)10 m, north
C)10 m, south D)10 m, east

M SR A 3N T YE T ¢l 15 W g F 416, IF SfRor A A 73 {1 20 AR TR F G, T°T
9@ #r 3R 7z § 3N 10 AR e g1 AR a7 SR A AR P3ar § 3R 5 AW To0ar ¢ a8 I WS

ig ¥ Rl g 3l R e o 82

A)10 #Hrex, 9fegA B)10 HIeY, 3k

C)10 #iex, gfaor D)10 #ex, qd

Answer Key : D Your Response : D (Correct)

Question No. 29
The breadth of a rectangular field is 60% of its length. If the perimeter of the field is 800 m, what is the area of
the field?
A)40000 m? B)18750 m?
C)37500 m? D)48000 m?

Th AR AT $r die suhr oae o1 60% ¢l I A F IRAMT 800 HeX §, o AT F &b AT
E 2y

A)40000 #Hex? B)18750 #rex?
C)37500 #Hrex? D)48000 #Hrex?
Answer Key : C Your Response : C (Correct)

Question No. 30

The process in which acids and bases react to form salts and water is called reaction.
A)Sublimation B)Neutralisation

C)Halogenation D)Hydrogenation

ag ufFar, e 3 3l & SRR e waor R S @ § SRR Fgarh ¥
A)FEaurdet B) 3areiteitentor

C)gallSTeitenioT D) HEEEGICT

Answer Key : B Your Response : D (Wrong)

AIIgove_ urgsmgmjaqbs.in Top



P and Q can do a piece of work in 40 days. Q and R can do it in 120 days. Q alone could finish it in 180 days.
In how many days will P and Rwoﬂdnmmgﬁﬂ@%_m

A)35 B)50

C)25 D)45

P 3R Q u& F67 #r 40 Rt 3F qr w¢ ¥wa §1 Q 3 R ¥ 120 Rt & q@ &€ a3t §1 Q v T 180
Rt F qur wFar #1 P 3R R fiemw 5@ fraet Rt F g w67

A)35 B)50
C)25 D)45
Answer Key : D Your Response : D (Correct)

Question No. 32
The optician prescribes a corrective lens of power +2.5D. What does this mean?
A)The lens is a combo of 2 concave lenses, withB)The lens is convex with power 2D
powers 2D and 0.5 D
C)The lens is a combo of 2 convex lenses, withD)The lens is concave with power 2.5D
powers 2D and 0.5D

3HifeeRT=1, +2.5D &+ are faR® o (corrective lens) &1 Y T ¥1 sa = 30 §7?

A)eld, 2 add o & FASA g, ST &TAaT 2DB) e 2D &7HT aTell 3cdd o &l
3R 0.5D gl

C)olH, 2 3cdel ol & HAIS g, Toletehl &TAdT 2DD)eid 2.5D &THdT aTell 3dddl o gl
3R 0.5D %I

Answer Key : C Your Response : B (Wrong)

Question No. 33
In this question, two statements are given followed by two conclusions. Choose the conclusion(s) which best
fit(s) logically.

Statements:
1) Some towns are cities.
2) All cities are homes.

Conclusions:

I. Some towns are homes.

Il. Some homes are cities.

A)Only conclusion Il follows B)Neither conclusion | nor Il follows

C)Only conclusion | follows D)Both conclusions | and Il follow

Allgovernmentjobs.in Top



50 W A, o wel & 4G o st Ru e §) 39 fFrend(Eh) @ o, S e w7 & weEifte sagE #
Allgovernmentjobs.in

1) 3T F W §

2) | R W

fore:
. F& F N E

II. $& W U §l
A)Fae sy || 3uged Bl B)a a sy | 3R o & frseny || 3uged g
C)dae faswy | sugea Bl D)fasehy | 3R 11 gt & 3ugerd g

Answer Key : D Your Response : D (Correct)

Question No. 34
Two boys A and B start from the opposite direction of 14 km apart. A is facing east and B is facing west. A
reaches the distance of 5 km towards east and B reaches a distance of 2 km towards west. What Is the

distance between the two boys?
A)9 km B)11 km
C)5 km D)7 km

ABEFAINRB 4PN APIRNTRI AT E RITN AT A AN FRAgr e s s
aftesT #r 3R dp B g ¥ A 9F #r 3R 5 Bl A g a7 War ¥ ik B uf¥aw #r 3R 2 Bl A gl
& T §1 o At TFHr F d Fr g Feaed 7

A)9 fFe B)11 fefr
C)5 el D)7 el
Answer Key : D Your Response : D (Correct)

Question No. 35
Product of two proper fractions is .
A)Sometimes greater and sometimes less than eitherB)Always greater than either of the fractions
fraction

C)Always less than either of the fractions D)Greater than the product of their reciprocals

A 3R Bt F1 IPES dar 1
AR o T e & Faf-melr 31f8e IR Faf-wefiB)gaem Fear & @ Rt off v ¥ 31O
$SH

C)gAarm el 7 & forell off v & & D)3eTeh cshAT & VAR A IHiRh
Answer Key : C Your Response : C (Correct)

Allgoverpmentigbs.in Top



Choose from the alternatives the figure that best completes the

pattern given below. . .
Allgovernmentjobs.in

v

C) D)

few av Rwedt & & a8 3T g, S A= U v dex @ g wEr

gl
1
L]
| 1
A) - B)
C) D) .
1
Answer Key : A Your Response : A (Correct)

Question No. 37
Which leader said 'Swarajya is my birthright and | shall have it'?
A)Bal Gangadhar Tilak B)Motilal Nehru
C)Bipin Chandra Pal D)Jawaharlal Nehru

ERIS $T A 94 W U3 ¥ A ¥ 3¢ 9 R AT o FuT &7

A)STel IR fereh B) &Il Ag®
C)fefusr g drer D)STaTelellel sig®
Answer Key : A Your Response : A (Correct)

Question No. 38

Allgovernmentjobs.in Top



In this question, two statements are given followed by two conclusions. Choose the conclusion(s) which best
fit(s) logically. Allgovernmentjobs.in

Statements:
1) All dogs are bats.
2) All bats are cats.

Conclusions:

I. Some dogs are not cats.

Il. Some cats are dogs.

A)Neither conclusion | nor Il follows B)Only conclusion | follows
C)Only conclusion |l follows D)Both conclusions | and Il follow

59 W #, & FEl & A & s Ru aw §1 3 fsed(sh #r g6, o i w9 @ weifte sage e

1) W Tt TAES T

2) s weTes Rfeedr §i

et
. & Foo Mol 7@ €1

II. 3 Rl F §
A ar sy | 3R & & T 1l 3uged g B)&de ey | 39ged g
C)dae fashy Il 3uged Bl D)fasehy | 3R 11 gt & 3ugerd g

Answer Key : C Your Response : C (Correct)

Question No. 39
Anitha walked 100 m from point A and turmed right to cover 45 m. Again she turned right and walked 100 m to
reach point B. What is the distance between the point A and B?
A)35m B)100 m
C)45 m D)50 m

e, Rig A ¥ 100 e welr AR ¢ 3R 45 AR wehrl 77 AR & g 3R 7% 3K 100 Hex woaw Rig
B W ugehl g A 3 B & & #r gt el &7

A)35 #Hrex B)100 #rex
C)45 #Hex D)50 HrexX
Answer Key : C Your Response : C (Correct)

Allgoveramentiobs.in Top



Two articles cost Rs.2500 each. One is sold at 5% profit. On the whole if there is 20% profit, what is the

percentage profit on selling the other al;&{ﬂg?ovem mentjobs.in
A)35% B)30%

C)20% D)25%

ar Teg3it ot W® FT FY {eT $.2500 §1 TF A 5% AT W A A ¢ I For AT 20% Fr e
g3 &, ar I o gt A Refr w0 gIm wfwre e e Aifdre

A)35% B)30%
C)20% D)25%
Answer Key : A Your Response : C (Wrong)

Question No. 41
Find the greatest among these fractions.
5/6, 6/11, 2/3, 8/9, 6/7
A)6/7 B)8/9
C)2/3 D)5/6

=fafRd & ¥ FeW 98 B Fr a9 Ao

5/6, 6/11, 2/3, 8/9, 6/7

A)6/7 B)8/9
C)2/3 D)5/6
Answer Key : B Your Response : A (Wrong)

Question No. 42
If the length of a wire is doubled by taking more of wire, what happens to its resistance?
A)Gets halved B)Gets decreased
C)Remains unaffected D)Gets doubled

I Rl AR fr e AR A AR F gy F YFET @ SR §, A IEF WK W R e {em?

A)3TTeIT g1 ST B)&h# g SITuem
C)3sTiae Tgam D) g1 Sirwam
Answer Key : D Your Response : C (Wrong)

Question No. 43
Graafian follicles are characteristically found in the -

A)Testis of mammals B)Ovary of frog

C)Ovary of mammals D)Thyroid of mammals

IR e (R W) R # gie s

A)ETAUTRET & gooT B)#asd & 3B
C)TdaTiar & 3731 D)TATHIRAT & TTASS
Answer Key : C Your Response : Not Answered

Question No. 44 .
Allgovernmentjobs.in Top



g_ﬂt\;‘-

Simplify: T Allgovernmentjobs.in

A) B)

-2(1++2) 1-242
) D)

- (2 + JE] 2+.2

T T
C T -JE

A) B)

-2(1++2 1-242
C) D)

-(2+ JE] 2+.2
Answer Key : A Your Response : A (Correct)

Question No. 45

One Pascal (Pa) equals which of the following?
A)Newton metre squared N m? B)Newton per metre squared N / m?

C)Newton metre N m D)Newton per metre N/ m

UF YRS (Pa) Arfaf@d 7 ¥ fFad e dar 82

A)eged HeX gohdT N m? B)ufa #flex #geeT a1 N / m?
C)=gee #eX N m D)rgesT i #leX N / m
Answer Key : B Your Response : B (Correct)

Question No. 46
How do bats navigate and locate its food in dark?
A)They give some peculiar sound for tracking B)They use their eyes
C)They send and track some infrasonic signals D)They send high pitched ultrasonic squeaks which

reflect on hitting any obstacle

mm#ﬁmmmwwm@%mm%wg? Top
A)3 e & faT Fo eha marst Hererd &) B)a 319elr 1@l T SEIHATT I &



C)d $T U Hehd Aold & 3R 3ofehr dIoT &t &1 D)d 3= U arel Wisied @@ (squeaks) fAehrerd &,

AllgovernmerfjdB8. i T # eI wEfid &k 5l

Answer Key : D Your Response : D (Correct)

Question No. 47

Find the ODD one out from the given options.

C) D)

L ]

T av Bweat & & 3w F gA

A) B) |
¥
4 . y
C) _ D)
\ . +

' d

1
Answer Key : B Your Response : B (Correct)

Question No. 48

What are the two most common materials used to make wires for electricity transmission?
A)Nichrome and constantan B)Manganin and constantan
C)Copper and aluminium D)Tungsten and manganin

Rcga TR F AT T T aR F v BT ¥ § 37T B S 9 &Y o e & €

A)TTSHhIA 3R FeaceeaT B)#Harfae 3R Fedceeat
C)dier 3R TogAfags D)&ResT 3R Harferet
Answer Key : C Your Response : C (Correct)

Question No. 49

Which of the following issues create(s) threat to the public health?

A)Pollution, water scarcity and °Verp°99k'ﬁﬁ%‘vernm§?‘ﬁj’6‘5i§”in
C)Water scarcity D)Overpopulation

Top



m#qmmmmamwm*mtwmmﬁ
)T, T Y AR et e ) e o
C)urehr &r e D)3t -

Answer Key : A Your Response : B (Wrong)

Question No. 50
Ravi sold two bicycles at the same price, but gained 20% on one and on the other bicycle lost 20%. Find his
profit or loss in the transaction involved.
A)Gain of 10% B)Loss of 20%
C)Loss of 4% D)Gain of 20%

W o & AR FAA ApT W A, AT 30 0F WA W 20% FT A §I AR @ WEhd W 20%
$r oA g8 3@ aeA 7 §¥ 3w 9w A @R AT AR

A)10% & TS B)20% &I gifer
C)4% & grfar D)20% T oY
Answer Key : C Your Response : C (Correct)

Question No. 51
Natrium is the Latin name of

A)Nitrogen B)Sulphur

C)Neon D)Sodium

ARTH o1 AT 1A ¥l

A)TSErSTeT B) T

C)f¥3iteT D)&ifsTe

Answer Key : D Your Response : D (Correct)

Question No. 52
With which of these games is the term 'checkmate' associated?

A)Chines Checkers B)Chess

C)Snakes and Ladders D)Ludo

AFIT Ueg T A R A § wefte &7

ATl T B) erast

C)&ig-rer DEE

Answer Key : B Your Response : B (Correct)

Question No. 53
In which of the following states of India is the Shevaroy Hills located?
A)Andhra Pradesh B)Tamil Nadu
C)Rajasthan D)Karnataka

IRT Bew, SRT F PRfET F ¥ 5T TsT F Rua &2

A)3TYr geer B)df@erarg
C)ISTELTeT D)&FsTeh
Answer Key : B Your Response : Not Answered

AIIgoveanmeptjsqbs in Top

uestion



Choose the pair which shows the same relationship as in pair given below.

Allgovernmentjobs.in

ABD : EGH
A)IJL : MOP B)GHJ : KLN
C)OPR : UTY D)IKL : NRT

39 oA F g S A Re 1w 39 & wAe dae gl §)

ABD : EGH

A)IJL : MOP B)GFH : IPR

C)OPR : UTY D)IKL : NRT

Answer Key : A Your Response : A (Correct)

Question No. 55
Although metals form basic oxides, which of the following metals form an amphoteric oxide?
A)Na B)AI
C)Cu D)Ca

I argd AR Jfaags Forh §, AR o Pl & & i @ uig o IRl siieres sl §2

A)Na B)Al
C)Cu D)Ca
Answer Key : B Your Response : B (Correct)

Question No. 56

Arsenious sulphide sol is an example of-

A)Colloids B)Suspension

C)Solution D)Solids

HHRT TePET /T T TF 3T ¢

A)FIess B)faeissT (Suspension)
C)faerast D)arH

Answer Key : A Your Response : Not Answered

Question No. 57

Electron revolves around nucleus in orbits which have-

A)Infinite energy B)Variable energy

C)Fixed energy D)No energy

Sl e & ORt IR TEDt A g &, et v g

A)IAT Sl B) 37e19T-37e19T Sl

C)RRX Fait D)#I$ FaiT oTer gar

Answer Key : C Your Response : C (Correct)

Question No. 58
Simplify: 4.54 x 0.99
A)4.5 B)4.4946 |

C)4.04946 Allgovern mggh’ﬂ'%gg..ln Top



W FY : 4.54 x 0.99

A4S Allgovernmé&itfsbs.in
C)4.04946 D)44.946
Answer Key : B Your Response : B (Correct)

Question No. 59

The sum of the squared deviations of a set of value is least if measured from .

A)Arithmetic mean B)Mode

C)Standard deviation D)Median

A & U W & R=ee @it (squared deviations) #T AT eI ar ¥, AR S/ ¥ FT Snew &
A)FHATTR AL B)sgeih

C)ATh faderet D)#TfegesT

Answer Key : A Your Response : C (Wrong)

Question No. 60
If in a certain code, 'il be pee' means 'roses are blue', "sik hee' means 'red flowers' and 'pee mit hee' means
'flowers are vegetables', then which of the following means 'roses’ in that code?
A)Cannot be determined B)be
Cil D)sik

Ife it FeomT A, il be pee’ FT AT ‘roses are blue' ¥, 'sik hee' FT AW 'red flowers' ¥ 3K ‘pee
mit hee' F HAWR ‘flowers are vegetables' &, @t 3 Feomwr ¥ Awfaf@d & ¥ Rrawr HAWURT ‘roses’
aem?

A fauiRa sg fFar ST asar B)be
Q)il D)sik
Answer Key : A Your Response : A (Correct)

Question No. 61
Chemically, rust is-
A)Ferric chloride B)Ferric bromide
C)Ferric sulphide D)Hydrated ferric oxide

TS T F, 591 T &2

A)HBR& FARSS B)®%Re siAEs
C)®Re HeHIEs D)ersses %R+ 3iferarss
Answer Key : D Your Response : D (Correct)

Question No. 62

Bleeding gums is associated with-

A)Astigmatism B)Scurvy

C)Kwashiorkor D)Rickets

AYst # g 3w ¥ wefta g g

AT B)Edl

C)FaTIIRSR D)g@r T

Answer Key : B Your Response : B (Correct)
Allgovernmentjobs.in Top

Question No. 63



If each side of a cube becomes three times of itself, then its volume of its original volume.
A)Becomes 3 times AIIgovernmé?ﬁf@%&‘?ﬁ? times

C)Becomes 27 times D)Becomes 2 times

I Rl aeT Fr wlT e A wiar$ AT I qoT A S ¥ A SHH A, IS AT H
|

A)3 T &Y ST ¥ B)9 [T & e &
C)27 a7+ g1 SiTell § D)2 9T & S &
Answer Key : C Your Response : C (Correct)

Question No. 64
Simpilify: 1/(sec 6 - tan 6)
A)sec? B -tan? 6 B)cos 6 +sin 6
C)sec O +tan 6 D)cosec 6 - cot 6

el fIfSe: 1/(sec 6 - tan 0)

A)sec? 0 - tan? 0 B)cos 6 + sin 6
C)sec 6 + tan © D)cosec 6 - cot 6
Answer Key : C Your Response : Not Answered

Question No. 65
The ratio of salaries of P and Q last year is 4 : 5. The ratio of last year salary and the present salary of P is 3 :
5 and for Q this ratiois 2 : 3.
If their total salary at present is Rs. 6800, what is salary of Q ?
A)Rs.2700 B)Rs.3200
C)Rs.4200 D)Rs.3600

R af P 3k Q & 307 = Iqoa 4:5 ¥ P & Ao af & daa7 IR g\ daa 7 eara 35 § 3R Q
¥ AT T7 AT 2:3 {1 IR TR F 3 Feor AT $.6800 &, Q F AT AT AT

A)%.2700 B)%.3200
C)%.4200 D)%.3600
Answer Key : D Your Response : Not Answered

Question No. 66

Ethyl alcohol is used as a/an-

A)AIl of the options B)Alcoholic beverage
C)Solvent D)Fuel in spirit lamps

$UIBA P I 3TANT & w7 &F B e #

A)SAH T Y B)Towhlgel o 9 werd

C) e D)faRe o # gue

Answer Key : A Your Response : A (Correct)

Question No. 67
The difference between Simple Interest and Compound Interest for 2 years on a certain sum at the rate of 4%
per annum is Rs.8. Find the sum.

A)Rs.8000 Al B)Rs.5000,
C)Rs.4000 govemm%m@%om Top



ol g X 4% aifder o § 2 o W WIsT FUROT A AR TR ST & T W IR 5.8 ¥ ag IR

T Allgovernmentjobs.in

A)%.8000 B)%.5000

C)%.4000 D)%.10000

Answer Key : B Your Response : Not Answered

Question No. 68

"Phulkari” is a famous embroidery of which state of India?

A)Madhya Pradesh B)Punjab

C)Uttar Pradesh D)Rajasthan

g ARG & e TS A W TS 87

A)HET g&or SHREICS

C)3cal Jeer D)IrsTEdTeT

Answer Key : B Your Response : Not Answered

Question No. 69

Find the ODD one out from the given options.

A)Mathematics B)Chemistry

C)Library D)Physics

R a1v frwet # A I F G

A)ITfora B) T e

C)qedehrerd D)#ifas faamer

Answer Key : C Your Response : C (Correct)

Question No. 70
P and Q jog along a circular track of 400 m in opposite directions from the same starting point starting
together, with speeds 10 m/s and 40 m/s. Whenever they meet, P's speed is doubled and Q's speed is
halved. After what time from start, will they meet for the third time?
A)28 seconds B)36 seconds
C)26 seconds D)18 seconds

P 3R Q, & & mer fig ¥ Al fRfamsit % 400 A o FeawR ART W, 10 MAFs 3R 40 Hewdss
#r =1 & dlsa &) S o F B §, P Fr e G @ S ¥ 3k Q iy e amedr @) Sl @) Gy gF @
A fFe @AY § ag, 3 Al IR A

A)28 T&s B)36 d&hs
C)26 s D)18 J%hs
Answer Key : C Your Response : Not Answered

Question No. 71

The increase in oil production is due to-

A)Green Revolution B)Yellow Revolution
C)Brown Revolution D)White Revolution
AT 3ereeT ¥ i T AT FROT §?

A)gRa wifa

Al AN
Oyl iR governmgggg%n Top



Answer Key : B Your Response : Not Answered

Allgovedrsmemtjabs.in
Five years ago, the average age of a couple was 24. At present, the average of the couple and a child is 20.
What is the child's age?
A)3 years B)4 years
C)2 years D)1 year

g af vgd, OF S A AT Iy 24 O T &, S 3R v a=R A 3y 3 60 ¥ T= Hr I
foreretr &2

A)3 a¥ B)4 af
C)2 a¥ D)1 a¥
Answer Key : C Your Response : Not Answered

Question No. 73
With which of the following sports is the 'Rohinton Baria Trophy' associated?
A)Basketball B)Hockey
C)Cricket D)Football

At aftar Ffr ey F ¥ v e & defa &7

A)STEResTer B)glehr
C)fsrehe D)pedid
Answer Key : C Your Response : Not Answered

Question No. 74

Mark the true statement:

i) There are only two primes that are consecutive positive integers.

ii) For every positive primes, there is a corresponding negative prime.
iif) Sum of two primes is always even

iv) Coprime numbers are always prime numbers.

A)Statement (ii) only B)Statements (ii) and (iv) only
C)Statement (i) only D)Statement (iii) only

Allgovernmentjobs.in Top



TH FYA FT 9T
Allgovernmentjobs.in

) daer oY ey WA § S AR SeleHs quits §1

(i) TP TAICHS AT HEAT Y TF WA HUNHS HAST AT g ¢
(ii) &Y 3o WEABT Fr AT FAA A Far B

(iv) TeHIcT TEAIY AT 3o HeAd gialr #l

A)hadl HUT (i) B)shdel &Y (i) 3R (iv)
C)W YA (i) D)m HYA (iii)
Answer Key : C Your Response : C (Correct)

Question No. 75

Bacteria that can grow and produce lethal toxins even inside the refrigerator are -

A)Escherichia Coli B)Salmonellae

C)Clostridium Botulinum D)Streptococcus Faecalis

Shramop, it WFeRET & 3iET ot araw R et F o0t wd Rela W wwd € & #
A) TR, Fiars B)dTeHIstel

C)FAEASAA SgergsTA D)ERTIHHE Frpford

Answer Key : C Your Response : Not Answered

Question No. 76
Compare static friction and sliding friction.
A)Sliding friction is equal to the static friction B)Sliding friction is slightly smaller than the static
friction
C)Sliding friction is slightly greater than the staticD)Sliding friction is abnormally greater than the static

friction friction

wifow wdor 3R wdff edor (sliding friction) Hr gereT FYI

A)Fdf a¥or R avor & SR g & B)&dt avur ¥faw a¥ur & AT HA g &

C)adt adur Tdfde avor & Asr 3HfUF gar g D)adl T AT & ¥ Vfdw w¥or & iR g
J

Answer Key : B Your Response : B (Correct)

Question No. 77

Plants respire through-

A)Roots B)Stomata

C)Stem D)Flower

ule & AgA A @EA o §l

A)STS Allgovernm&Htjobs.in Top

C)ae D)%l



Answer Key : B Your Response : B (Correct)

Allgovesramemtjebs.in
Who among the following released the book 'Sabka Saath Sabka Vikas' in March 20197
A)Sushma Swaraj B)Arun Jaitley

C)Rajnath Singh D)Ravi Shankar Prasad

A 2019 ¥ "G AT W RHE dHE EF W Qe Arafaf@a F ¥ e

A)gEAT TR B)37¥0T Siceir
C)I=rry &g D)faeieT gare
Answer Key : B Your Response : D (Wrong)

Question No. 79
What Simple Interest is eamed on a sum of Rs. 5700 at 12% rate in 1.5 years?
A)Rs.1400 B)Rs.1026
C)Rs.1820 D)Rs.1070

%.5700 Fr TN | 12% Hr T A 1.5 af F WIS WYURT A AT HW?

A)%.1400 B)%.1026
C)%.1820 D)%.1070
Answer Key : B Your Response : B (Correct)

Question No. 80

Which of the following will best complete the relationship given below?

AFlI:M: ABA:7?
A)O B)L
C)J D)K

ferfaf@a & ¥ Fi7 W A Ro aw d@ee i wafewr o F qof :em?

AFl : M :: ABA:?

A)O B)L
C)J D)K
Answer Key : D Your Response : Not Answered

Question No. 81
What is the outer ear called?

A)Auditory nerve B)Pinna

C)Cochlea D)Ear drum

aEq FoF (outer ear) R Faa €2

INECHEGIEE] B)aotarfor

C)apiiererar D)&TeT T TaT

Answer Key : B Your Response : B (Correct)
Allgovernmentjobs.in Top

Question No. 82



ASTRO-H was an X-ray astronomy satellite launched by-

A)lndia Allgovernmé&ngedss.in

C)Australia D)USA

ASTRO-H ZART diea R IR v -y @eiter R 3vaw

A) AR B)SiTaTeT

C)3itegforar D)USA

Answer Key : B Your Response : D (Wrong)

Question No. 83
Which celestial body twinkies in the night sky?
A)Jupiter B)Mars
C)Moon D)Star

Pl T T [N, U & TAT THRr 7 THwr §2

A)ggEafa B)#HaTel
C)drig D)drT
Answer Key : D Your Response : D (Correct)

Question No. 84

How many lines are there in the given figure?

A)12 ?
17
) D)S
21
& & Iy & frad @ 2

Allgovernmentjobs.in

Top



A) B)

12
Allgovernmentjobs.in
C D
) ) 3
21
Answer Key : B Your Response : C (Wrong)

Question No. 85
What is the normal temperature of a human body?
A)96.7° F B)94.8° F
C)98.6° F D)100° F

A W T AHAT 19 41 §?

A)96.7°F B)94.8°F
C)98.6°F D)100°F
Answer Key : C Your Response : B (Wrong)

Question No. 86

Which of the following indicators can be used by visually impaired student?
A)Vanilla B)Petunia leaves

C)Turmeric D)Litmus

el & & F7 o quw, TREafa o g@rr 3T BT T @ 87

A)Teirell B) i & ged
C)gedr D)felcaa
Answer Key : A Your Response : C (Wrong)

Question No. 87

Who was invited by Lord Wavell to form the interim Government in India in 19467
A)Jawaharlal Nehru B)C. Rajagopalachari
C)Vallabhbhai Patel D)Rajendra Prasad

1946 H ARA H IHANHA WHR T & AT dF &qa F FY 3HART e

A)STATEITe Ag® B)C. JSITeary
C)TcTdTsTs It D) Rarcer-iersiry
Answer Key : A Your Response : Not Answered

Question No. 88

Choose the figure that best represents the relationship among the
classes given below.
State, Continent, District, Country

A) B)

Allgovernmentjobs.in Top



) D)

AIIgovernmentjoan
N Q)

3H Hpd W WA H, A Seonad AR & @9 & 5w #7
;q'cfhﬂ ﬁ'&fﬂ?-rm?ﬁ?rl
=g, Agiea, e, 22

L ©

Answer Key : D Your Response : D (Correct)

Question No. 89
What is formed when ethanol reacts with ethanoic acid on wamming in the presence of a few drops of
concentrated sulphuric acid?
A)Ethene B)Ester
C)Ethane D)Sodium ethoxide

I e TORE I B T @ Fr 3uRAY F W T | wela, s e ¥ e iRl wwar
¢, & = a=ar 7

A)sdieT B)T¥cX
C)sqa D)E3TH SANFASS
Answer Key : B Your Response : Not Answered

Question No. 90

Fix the symbols +, -, x, + appropriately in the box to fit the equation given here.

5010305=20
A)-, X, X B)-, +, -
C)x, X, - D)+, +, x

g BT 1T FARROr Fr GG F F A Gl 4+, -, x, + 3 GE &1 ¥ ARy w0

5010305=20
A)-, X, X B)-, + -
C)x, X, - AIIgovernm%thJQ,bgln Top



Answer Key : D Your Response : D (Correct)

Allgovernameintipbs.in

Find the wrong number in the given series.

18, 24, 36, 60, 110, 204

A)110 B)18
C)24 D)204
& 1§ Joft F e dEar A Al

18, 24, 36, 60, 110, 204

A)110 B)18
C)24 D)204
Answer Key : A Your Response : Not Answered

Question No. 92

2sin" a+3cos a

If cosec a = /2 , evaluate - —.
cosec” atcot™a

5/6 5/12

C) D)

5/3 5/2

2sin” a+3cosa
ﬂﬁcosecaZﬁ %'HT T AT AT ST

cosec” a+ecot” a

A) B)
5/6 5/12
0) D)
5/3 5/2
Answer Key : A Your Response : Not Answered

Allgovernmentjobs.in

Question No. 93

Top



Which of the following High Courts has the largest Jurisdiction in the country?

A)Allahabad High Court AIIgovernmé?ﬁﬁHb@. ffjgh Court
C)Bombay High Court D)Calcutta High Court

U ¥ PR § ¥ R 3T [T #7 QA0SR g9 a57 872

A)SelTgldleg 3Td = reld B)a‘lam'c?ro 3I=T SR
C)aﬁé' 3T SgIATeTd D)&elshcdl 3T ATl
Answer Key : B Your Response : C (Wrong)

Question No. 94
If 'Sky' is called 'Sea', 'Sea' is called 'Water', 'Water' is called "Air', 'Air’ is called 'Cloud' and 'Cloud’ is called
'River’, then what do we drink when thirsty?
A)Water B)Sky
C)Air D)Sea

AR I P CGHE FE A §, WS W STl Fr AT §, S P AT F AT §, FA P AGA T
ST § AR "aee’ A& FEr ST §, O WU e W §H & 9 §7

A)sTeT B) 3Teht?r
Cear D)&#s
Answer Key : C Your Response : C (Correct)

Question No. 95
In a certain code language, 'pat zoo sim' means 'eat good mangoes', '‘pus sim tim" means 'mangoes and
sweets' and 'tim zoo kit' means 'purchase good sweets'. Which word in that language means 'eat'?
A)pus B)tim
C)sim D)pat

fadr fATRer fresmT 3, ‘pat zoo sim' FT AT 'eat good mangoes' ¥, 'pus sim tim' T AT 'mangoes
and sweets' §, 3K 'tim zoo kit' #T 1AW’ 'purchase good sweets' §1 3 ST & A e Fr FAW 'eat’
X4

A)pus B)tim
C)sim D)pat
Answer Key : D Your Response : D (Correct)

Question No. 96
Which of these is a perfect square?

A)9013 B)9887

C)9801 D)9016

gt A @ a1 ot ot &2

A)9013 B)9887

C)9801 D)9016

Answer Key : C Your Response : C (Correct)

Question No. 97
If '+ means -, - means '+, 'X' means "+ and '+' means X', then5-5+5+5x5=7
A)26

B)25
C)20 Aligovernmentjobs.in Top



IR_HFIITVE AT X FITHEIR YT XE, A5-5+5+5x5="7

A)26 Allgovernmétjobs.in
C)20 D)5
Answer Key : D Your Response : D (Correct)

Question No. 98
Three persons have their ages in the ratio 4 : 7 : 9. Eight years back their total age was 56. How old is the
eldest now?
A)42 B)36
C)28 D)32

de =afFeat A I F AT 4:7:9 ¥ IS A Tge, I T I 56 M| FEN ¥ AT Fr AT A
T 87

A)42 B)36
C)28 D)32
Answer Key : B Your Response : Not Answered

Question No. 99

To monitor the foetal growth, the latest technique of is used.

A)Chemotherapy B)Ultrasonics

C)CAT Scan D)Eudiometry

T ¥ Rw A PR T & @, Hr FdeTTH daei F 39T R e §
A)STHERGT B)3Tegalielsh

C)CAT Thet B)RIERIE

Answer Key : B Your Response : Not Answered

Question No. 100

Read the following information carefully and answer the question given below.

Seven friends— A, B, C, D, E, F and G like different colours—red, blue, white, pink, green, black and yellow,
but not necessarily in the same order. They all have different hobbies (or they like different activities) singing,
drawing, reading, cooking, painting, dancing and fishing, but not necessarily in the same order.

The hobby of D is singing. The one whose hobby is cooking likes pink colour. A likes yellow colour. The one
whose hobby is fishing likes green colour. The hobby of F is reading. Neither D nor F likes black colour. The
one whose hobby is dancing, and drawing does not like black colour. The hobby of A is not drawing. The one
whose hobby is drawing does not like red and white colour; D does not like red colour. The hobby of E is
neither painting nor cooking. E does not like green colour. G does not like green and black colour. The hobby
of B is not fishing.

Who among the following likes pink colour?

A)C B)E
C)G D)B

Allgovernmentjobs.in Top
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A 2Rl A, B, C, D, E, F 3R G 9t 3eler-3reer 301, S19- e, oo, wiihg, e, &, Hrem AR e, wig
¢, et S ¢ B g w7 7 @1 3 Wl Y SremrsrenT lF ¥ (@ 3 et Afafaft wie ¥,
A - TR, P, 9o, W g, SfET, ST T ARl TS, Afer SIetr e B 3 T F @

D # = 1 olF ¥ R T T w w ol §, 3@ e T w6 $ A B der T w6 § S Feeh
sy Al §, 3V &0 W1 WG &1 F Y qgar & ¢iF €1 D 3R F, &t A & Frewr T wWig € § O
F F dlF & AR O Rl a7 ol ¥, 3F For T wig T4 ¥ A = REwd wr odls a6 O
Rl F s g, N aaR A TR DR T TR S ERNTNIRaTFailRa§
T a1 &7 &l &1 E A &7 31 g 8 §1 G : &7 AN Few 1 Wi ¢t §1 B Fr ol AGN qhEew
et ¥

PRl 3 & R e G TeE 87
A)C B)E
C)G D)B

Answer Key : C Your Response : Not Answered
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